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MATCHING.  Choose the item in column 2 that best matches each item in column 1.

1) Required for four-wheel drive

2) Full time four-wheel drive

3) A locking center differential

4) Selects two or four wheel drive

5) Provides low gear range

6) May cause skip or hop in front wheels

7) Selects high or low gear reduction

8) Axle type provides a smooth ride

A) CV joints at front wheels

B) Transfer case

C) Range shift

D) Viscous coupling

E) Mode shift

F) Drive chain

G) Cardan-type U-joints

H) Spider gear set

I) Center differential

J) Planetary gear set

1)

2)

3)

4)

5)

6)

7)

8)

1



Answer Key
Testname: MATCH 131

1) B
Page Ref: 1645

2) I
Page Ref: 1646

3) D
Page Ref: 1647

4) E
Page Ref: 1648

5) J
Page Ref: 1650

6) G
Page Ref: 1652

7) C
Page Ref: 1648

8) A
Page Ref: 1652
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